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QUESTION 1

If you have multiple searching relationships in your search, which search results format is best for a non-grouped
format? 

A. Row 

B. Summary 

C. Column-Flat 

D. Column- Hierarchical 

Correct Answer: C 

 

QUESTION 2

Within RSA Archer, data is restored in the following nested sequence of items: 

A. Solution> Application>Record>Field 

B. Workspace>Dashboard>iView>Report 

C. User Account> Workspace>Solution> Application 

D. Access role> Group> User Account>User 

Correct Answer: A 

 

QUESTION 3

Why are Business Resiliency plans and programs recognized as mission-critical? 

A. Business Resiliency programs reduce the risk from exposure to third-party suppliers 

B. Policies change too often for Business Process Owners to maintain 

C. Business Continuity Plans are the only way to harness risk 

D. Organizational revenue and reputation depend on the availability of services, business processes, and technologies. 

Correct Answer: D 

 

QUESTION 4

Which is true about Advanced Workflow? 

A. It completely eliminates the need for data-driven events 
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B. It should be used for self-assessments 

C. It limits the capabilities of calculated fields 

D. It leverages data-driven events, calculations, and email notifications 

Correct Answer: A 

 

QUESTION 5

If an Archer user needs to send the content of an Archer record to a person who does not have an Archer user account,
which of the following options is their best course of action? 

A. Export the record to an output file (such as .pdf) and then attach that file to an email to send to the non-Archer user 

B. Share the Archer user\\'s login information with the non-Archer user through encrypted Email 

C. Send the non-Archer user the URL shown in the browser address bar when the Archer user has the report open 

D. Use the Email icon to send the non-Archer user an email that contains the content of the record 

Correct Answer: A 

 

QUESTION 6

Which of the following is true about Security Parameters? 

A. A Security Parameter cannot be assigned by default 

B. A user can only be assigned one Security Parameter 

C. Only Application Owners can be assigned a Security Parameter 

D. A user can be assigned up to three Security Parameters 

Correct Answer: A 

 

QUESTION 7

Which of the following areas of capability are covered by IT Security Risk Management? 

A. Establishing security policies and standards, testing Business Continuity Plans 

B. Establishing business context for security, detecting and responding to attacks 

C. Developing Plans of Action and Milestones, managing Crisis Events 

D. Identifying and meeting regulatory obligations, defining and implementing policies and standards 

Correct Answer: A 
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QUESTION 8

How does an administrator change the order in which sections appear on a record? 

A. On the Rules tab of a layout, the Administrator can click the dropdown arrow of a section and select to move it to
another place in the record 

B. On the General tab of a layout, the Administrator can assign a numeric order to existing sections 

C. On the Actions tab of a layout, the Administrator can set sections to rearrange based on the user accessing the
record 

D. On the Designer tab of a layout, the Administrator can drag drop a section to another place in the record 

Correct Answer: C 

 

QUESTION 9

Why is it important to configure Audit Management according to a specific organization\\'s priorities? 

A. The organization\\'s priorities help drive meaningful action based on the criticality and value to the organization 

B. The organization\\'s priorities should not be folded into the product so they can better evaluate Market drivers 

C. Audit Management should not be configured at all- it must be used exactly as installed 

D. The organization\\'s priorities are determined by the Audit Staff, resulting in an effective bottom-up approach to audit 

Correct Answer: D 

 

QUESTION 10

If an application has 10 fields, and a data import file contains values for 12 fields, what will happen with the remaining 2
columns of data when a Data Import is performed? 

A. New fields will automatically be created to accommodate the two remaining columns of data 

B. The extra data will be imported into a text file that can later be attached to records in Archer 

C. The remaining two columns of data are ignored and not imported into Archer 

D. The data in the two extra fields are merged into a single field in Archer. 

Correct Answer: C 

 

QUESTION 11

For which of the following field types is Trending an available option? 
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A. IP Address 

B. Values List 

C. Text 

D. Date 

Correct Answer: C 

 

QUESTION 12

Why might creating role-based groups positively impact the end user experience when working with user/ groups lists? 

A. It increases the complexity of key tasks 

B. It eliminates the need to select relevant users individually 

C. It eliminates the ability to synchronize with your LDAP server 

D. It simplifies access control by enforcing the one-role, one-group rule 

Correct Answer: D 

 

QUESTION 13

Data Driven Events can be used to trigger a number of different layout effects, based on a user\\'s interaction with other
fields in the application. 

Which of the following actions can be triggered by a Data Driven Event? 

A. Generate an email notification 

B. Create a new record 

C. Delete a record 

D. Set multiple dates in one date field 

Correct Answer: A 

 

QUESTION 14

When building an application, why might you use a tab set? 

A. To group related fields using custom HTML code 

B. To better organize History Log data 

C. To group related fields for administrative purposes only 
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D. To group related fields into logical arrangements 

Correct Answer: C 

 

QUESTION 15

What is the primary goal of Business Continuity or Disaster Recovery Plans? 

A. To ensure that employees have a documented escape plan, should a disaster occur 

B. To ensure that all relevant industry regulations are accounted for in the organization\\'s business plan 

C. To ensure that testing of plans is done at least annually in order to satisfy auditors 

D. To ensure that if a crisis were to occur, critical business functions would continue to operate or would be recovered to
an operational state within an acceptable amount of time 

Correct Answer: D 
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